[N of reco track vs normalized x? ] [N of associated (recoTosim) tracks vs normalized N of associated (recoToSim) looper tracks v normalized x*

4] F 9] 1%2]
Pl E o S 3
g P g g
: U g E DU e 2
F . . = F . . . 2 In} -
E P E E . £ 10 3
10°F- 10°F : 5
2 - 2 -
10%f 10 10
[ [ !
10 10F
L Gk IS 1) a4k .
1 AT
: 2 : g o
il 5 Nk 5 5
B 14 R | o 1.05) o
| 4 | 0.5
2 14 16 18 20 12 14 16 18 20 °% "2 4 6 8 10 17 14 16 18 20 © 2 4 6 8 10 12 14 16 18 20

track x? track X2 track x? track x?

{-50000t
2] 1%} 1%} (%]
X x X X .
Q Q [} Q M
© [ © ®  Fe---icaaaaaaan Beccecacaaaaann
£ B 5 s :
g 2 ] :
5 8 g [ premmmmnneeees
= :
5 :
L s
o ° o o
T T T T
@ 4 @ x




	Contents
	Page 1


